BB.tp.e.LT[21]-DBB.I11a[0]*0.5

BB.tp.e.LT[21]-DBB.I1a[0]*0.5

Left_time_vs_adc_e21 l Right_time_vs_adc_e21 I AVE_time_vs_AVEsum_adc_e21 I AVE_time_vs_AVEsqrt_adc_e21 l

Enies 70213

ean 718 2 2632

vean a2 00005 [ 1y

Rusx z36.15 1861 s zmsa s o

RS y 3914003083 sy 2015 ooume

e s e o ntegral s01s e e

15 15 15

BB.tp.e.RT[21]-DBB.11a[0]*0.5
IS

ho -12f o ho

10

0.5%(BB.tp.e.RT[21]+BB.tp.e.LT[21])-DBB.11a[0]*0.5
0.5%(BB.tp.e.RT[21]+BB.tp.e.LT[21])-DBB.11a[0]*0.5

-16 -16 -16f
-18 -188 -18
-20 -208 20
0 500 1000 1500 2000 2500 3000 0 500 1000 1500 2000 2500 3000 0 500 1000 1500 2000 2500 3000 0 500 1000 1500 2000 2500 3000
BB.tp.e.LApedc[21] BB.tp.e.RApedc[21] 0.5%(BB.tp.e.RApedc[21]+BB.tp.e.LApedc[21]) sqrt(BB.tp.e.RApedc[21]*BB.tp.e.LApedc[21])
Left_time_vs_try_e21 I Right_time_vs_try_e21 I AVE_time_vs_AVE_try_e21 I

] - n 0 - 0
S R (T
2k = 2F 2F
. = ..
@ . -
4 g8 Lk PR 4F s e
-sf - & e | I -sf
F
o = e
o
o

0.5%(BB.tp.e.RT[21]+BB.tp.e.LT[21])-DBB.11a[0]*0.5

-16
.5
-18
' N .
-20 -20!
-0.25-0.2-0.15-0.1-0.05 0 0.050.10.150.20.25 -0.25-0.2-0.15-0.1-0.05 0 0.050.10.150.20.25 -0.25-0.2-0.15-0.1-0.05 0 0.05 0.10.150.20.25

BB.tp.try[0] BB.tp.try[0] BB.tp.try[0]



